Question Paper Name :

Subject Name :
Creation Date :
Duration :
Total Marks :
Display Marks:

National Testing Agency

Computer Science and Information Technology Eng 07th
June 2023 Shift 2

Computer Science and Information Technology Eng
2023-06-07 23:01:35

120

400

Yes

Computer Science and Information Technology

Group Number :

Group Id :

Group Maximum Duration :
Group Minimum Duration :
Show Attended Group? :
Edit Attended Group? :
Break time :

Group Marks :

Is this Group for Examiner? :

Examiner permission :
Show Progress Bar? :

Section Id :

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

Part A

Number of Questions to be attempted :

Section Marks :

Enable Mark as Answered Mark for Review and Clear Response :

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :
Is Section Default? :

1
68634077
0

120

No

No

0

400

No

Cant View
No

686340153
1

Online
Mandatory
21

21

100

Yes

0

1
686340245
No

null

Question Id : 6863407689 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time :

N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
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Sutapa Chakraborty

Rudyard Kipling honoured motherhood with these words: "God could not be everywhere and. therefore. he
made mothers.” This is similar to what Sarada Devi, reffered to as Holy Mother by her disciples, would say
quoting her husband. Ramakrishana Paramhansa: "He had the attitude of a mother towards all creations and he
has left me behind to demonstrate this motherhood of God." That. she said. was her purpese in life.

A mother’s role 1§ multifaceted. She is also her child's first teacher. And Sarada Devi fully imbibed and
imparted the philosophy of 'Vigyan Vedanta', demonstrating how all those teachings could be applied to make
our own lives blessed.

In her own way, she taught "as many faiths, so many paths", Brahmn. according to her, was in all things and in
all creatures. Though the realised souls have imparted different teachings, and they don't say the same thing,
however, since there are many paths leading to the same goal. all of their teachings are true. She gave a unique
analogy for this. Imagine a tree with birds of different colours and plumage sitting and singing a wide variety
of notes i varying octaves. We do not say that any one particular bird's chirp is the chirp, and the rest are not.
She would say that founders of all religions are realised souls and they have witnessed diffferent aspects of
God on the basis of their own experience. and they are all correct as they have indeed known the truth. They
are wrong in generalising it. though. Actually. they are only referrng to different forms and aspects of one and
the same infinite. divine reality.

Demonstrating harmony of religions in her day-to-day life and a mother's uncondifional love for all, Sri Ma
would say that the Muslun labourer called Amjad working for her was as much her son as was Sarat. Swami
Saradananda. her personal attendant. When Sister Nivedita, Swami Vivekananda's disciple. came to visit her.
Ma Sarada embraced and accepted her as her own daughter. She mamntained that the infinite divine reality 1s
nirgun formless. in one aspect. and also sagun. with form. Once, when asked by a monk. "Are you really the
mother of all? Even the birds, insects and beasts?" She said. "Yes". At her home in Jayrambati, West Bengal,
when a monk once hit a cat, the Holy Mother was deeply hurt and said. "Don't beat it. Feed it. so it will not
steal food. I live in that cat."

Pray for desirelessness. was her advice. If one can entirely give up all wordly desires. they can get a vision of
God right away. she believed. Her final and most profound teaching was that if you want peace of mind, do
not find faults with others. Rather. learn to see your own faults. "Learn to accept the whole world as your own.
No one 1s a stranger, my child." she would say.

Sub questions

Question Number : 1 Question Id : 6863407690 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

"God could not be every where and. therefore he made mother” who said this.

1. Sarada Devi

[

. Ramalorishna Paramahansa

LN

. Rudyard Kipling

e

. Sutapa Chakraborty

Options :
68634030401. 1
68634030402. 2



68634030403. 3
68634030404. 4

Question Number : 2 Question Id : 6863407691 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

"Vigyan Vedanta' philosophy could be applied to make our own lives blessed. Sarada Devi fully imbibed and
imparted this philosophy.

Here imbibed means

1. Kill ideas or Knowledge

2. Literary absorb (1deas or knowledge)

%]

. Drink (alcohol)
4. Absorb water

Options :

68634030405. 1
68634030406. 2
68634030407. 3
68634030408. 4

Question Number : 3 Question Id : 6863407692 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Dafferent aspects of God means:

A. Different nature of God
B. Different character of God
C. Different feature of God
D. DiIfferent identity of God

Choose the most appropriate answer:

1. A B only

[ ]

.A.B.C.Donly

L¥¥]

.A.B. Conly

4. D only

Options :

68634030409. 1
68634030410. 2
68634030411. 3
68634030412. 4

Question Number : 4 Question Id : 6863407693 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
"Plumage" means:

1. A singing bird

[ £

. A bird of unique colour
3. A bird's feathers collectively
4. Number of birds chirping together

Options :

68634030413. 1
68634030414. 2
68634030415. 3
68634030416. 4

Question Number : 5 Question Id : 6863407694 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who were described as Sr1 Ma Sarada Devi's children in the passage. The list must include all the names
described:

1. Amjad. Sarat. Swami Vivekananda

-

. Sarat. Swami Vivekananda
3. Nivedita, Amjad. Sarat
4. Nivedita. Swami Saradananda, Amjad, Sarat

Options :

68634030417. 1
68634030418. 2
68634030419. 3
68634030420. 4

Question Id : 6863407689 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)

Question Label : Comprehension



Sutapa Chakraborty

Rudyard Kipling honoured motherhood with these words: "God could not be everywhere and. therefore. he
made mothers.” This is similar to what Sarada Devi, reffered to as Holy Mother by her disciples, would say
quoting her husband. Ramakrishana Paramhansa: "He had the attitude of a mother towards all creations and he
has left me behind to demonstrate this motherhood of God." That. she said. was her purpese in life.

A mother’s role 1§ multifaceted. She is also her child's first teacher. And Sarada Devi fully imbibed and
imparted the philosophy of 'Vigyan Vedanta', demonstrating how all those teachings could be applied to make
our own lives blessed.

In her own way, she taught "as many faiths, so many paths", Brahmn. according to her, was in all things and in
all creatures. Though the realised souls have imparted different teachings, and they don't say the same thing,
however, since there are many paths leading to the same goal. all of their teachings are true. She gave a unique
analogy for this. Imagine a tree with birds of different colours and plumage sitting and singing a wide variety
of notes i varying octaves. We do not say that any one particular bird's chirp is the chirp, and the rest are not.
She would say that founders of all religions are realised souls and they have witnessed diffferent aspects of
God on the basis of their own experience. and they are all correct as they have indeed known the truth. They
are wrong in generalising it. though. Actually. they are only referrng to different forms and aspects of one and
the same infinite. divine reality.

Demonstrating harmony of religions in her day-to-day life and a mother's uncondifional love for all, Sri Ma
would say that the Muslun labourer called Amjad working for her was as much her son as was Sarat. Swami
Saradananda. her personal attendant. When Sister Nivedita, Swami Vivekananda's disciple. came to visit her.
Ma Sarada embraced and accepted her as her own daughter. She mamntained that the infinite divine reality 1s
nirgun formless. in one aspect. and also sagun. with form. Once, when asked by a monk. "Are you really the
mother of all? Even the birds, insects and beasts?" She said. "Yes". At her home in Jayrambati, West Bengal,
when a monk once hit a cat, the Holy Mother was deeply hurt and said. "Don't beat it. Feed it. so it will not
steal food. I live in that cat."

Pray for desirelessness. was her advice. If one can entirely give up all wordly desires. they can get a vision of
God right away. she believed. Her final and most profound teaching was that if you want peace of mind, do
not find faults with others. Rather. learn to see your own faults. "Learn to accept the whole world as your own.
No one 1s a stranger, my child." she would say.

Sub questions

Question Number : 1 Question Id : 6863407690 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

"God could not be every where and. therefore he made mother” who said this.

1. Sarada Devi

[

. Ramalorishna Paramahansa

LN

. Rudyard Kipling

e

. Sutapa Chakraborty

Options :
68634030401. 1
68634030402. 2



68634030403. 3
68634030404. 4

Question Number : 2 Question Id : 6863407691 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

"Vigyan Vedanta' philosophy could be applied to make our own lives blessed. Sarada Devi fully imbibed and
imparted this philosophy.

Here imbibed means

1. Kill ideas or Knowledge

2. Literary absorb (1deas or knowledge)

%]

. Drink (alcohol)
4. Absorb water

Options :

68634030405. 1
68634030406. 2
68634030407. 3
68634030408. 4

Question Number : 3 Question Id : 6863407692 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Dafferent aspects of God means:

A. Different nature of God
B. Different character of God
C. Different feature of God
D. DiIfferent identity of God

Choose the most appropriate answer:

1. A B only

[ ]

.A.B.C.Donly

L¥¥]

.A.B. Conly

4. D only

Options :

68634030409. 1
68634030410. 2
68634030411. 3
68634030412. 4

Question Number : 4 Question Id : 6863407693 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
"Plumage" means:

1. A singing bird

[ £

. A bird of unique colour
3. A bird's feathers collectively
4. Number of birds chirping together

Options :

68634030413. 1
68634030414. 2
68634030415. 3
68634030416. 4

Question Number : 5 Question Id : 6863407694 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who were described as Sr1 Ma Sarada Devi's children in the passage. The list must include all the names
described:

1. Amjad. Sarat. Swami Vivekananda

-

. Sarat. Swami Vivekananda
3. Nivedita, Amjad. Sarat
4. Nivedita. Swami Saradananda, Amjad, Sarat

Options :

68634030417. 1
68634030418. 2
68634030419. 3
68634030420. 4

Sub-Section Number : 2
Sub-Section Id : 686340246
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 6863407695 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Out of the following options select the word that is correctly spelt:

1. CONVELESENSE

J

. CONVALASENCE
3. CONVALESENSE

4. CONVALESCENCE

Options :

68634030421. 1
68634030422. 2
68634030423. 3
68634030424. 4

Question Number : 6 Question Id : 6863407695 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Out of the following options select the word that is correctly spelt:

1. CONVELESENSE

J

. CONVALASENCE
3. CONVALESENSE

4. CONVALESCENCE

Options :

68634030421. 1
68634030422. 2
68634030423. 3
68634030424. 4

Question Number : 7 Question Id : 6863407696 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Despite the family's insistence that she should get married. She has set her face against the idea. The
underlined idiom implies that:

1. She got out of the difficulty on her own.

| )

. She opposed the idea with determination.

[F¥]

. She pitched herself against her parents.
4. She refused to confront and convince her parents

Options :
68634030425. 1



68634030426. 2
68634030427. 3
68634030428. 4

Question Number : 7 Question Id : 6863407696 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Despite the family's insistence that she should get married. She has set her face against the idea. The
underlined idiom implies that:

1. She got out of the difficulty on her own.

| B

. She opposed the idea with determination.

Lad

. She pitched herself against her parents.
4. She refused to confront and convince her parents

Options :

68634030425. 1
68634030426. 2
68634030427. 3
68634030428. 4

Question Number : 8 Question Id : 6863407697 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Choose a synonym of the underlined word.

Rohit's lugubrious eulogy at the funeral of his dog eventually made everyone start gigling.

1. morass

2. Sonorant

L¥¥]

. meloncholy
4. somber

Options :

68634030429. 1
68634030430. 2
68634030431. 3
68634030432. 4

Question Number : 8 Question Id : 6863407697 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose a synonym of the underlined word.

Rohit's lugubrious eulogy at the funeral of his dog eventually made everyone start gigling.

1. morass

2. Sonorant

[#¥]

. meloncholy
4. somber

Options :

68634030429. 1
68634030430. 2
68634030431. 3
68634030432. 4

Question Number : 9 Question Id : 6863407698 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Choose a word opposite to the meaning of the underlined word.

History iz replete with deeds of eruel and capricious kings.

1. erratic
2. steady
3. acquise
4. humble

Options :

68634030433. 1
68634030434. 2
68634030435. 3
68634030436. 4

Question Number : 9 Question Id : 6863407698 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose a word opposite to the meaning of the underlined word.

History 1s replete with deeds of cruel and capricious kings.

1. erratic
2. steady
3. acquise
4. humble
Options :
68634030433. 1
68634030434. 2

68634030435. 3
68634030436. 4

Question Number : 10 Question Id : 6863407699 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

A severe deserved punishment

1. Reformation

b2

. Retribution
3. Revisionism
4, Betreat
Options :
68634030437. 1
68634030438. 2

68634030439. 3
68634030440. 4

Question Number : 10 Question Id : 6863407699 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
A severe deserved punishment
1. Reformation
2. Retribution
3. Revisionism

4. Retreat

Options :
68634030437. 1



68634030438. 2
68634030439. 3
68634030440. 4

Question Number : 11 Question Id : 6863407700 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A sum of money doubles itself on simple interest in 10 years. Find the rate of interest per annum.

4. 8%

Options :

68634030441. 1
68634030442. 2
68634030443. 3
68634030444. 4

Question Number : 11 Question Id : 6863407700 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

A sum of money doubles itself on simple interest in 10 years. Find the rate of interest per annum.

1.10%

2
i)

2
&

4. 8%

Options :

68634030441. 1
68634030442. 2
68634030443. 3
68634030444. 4

Question Number : 12 Question Id : 6863407701 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



An athlete takes as much time in running 200 m as a car takes in covering 500m. The distance covered by the
athlete during the time the car covers 2 km 1s :

1. 500 m

[ ]

600 m

. 750 m

[F¥]

4, 800 m

Options :

68634030445. 1
68634030446. 2
68634030447. 3
68634030448. 4

Question Number : 12 Question Id : 6863407701 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

An athlete takes as much time in running 200 m as a car takes in covering 500m. The distance covered by the
athlete during the time the car covers 2 km 1s :

1. 500 m

[ ]

600 m

. 750 m

[F¥]

4, 800 m

Options :

68634030445. 1
68634030446. 2
68634030447. 3
68634030448. 4

Question Number : 13 Question Id : 6863407702 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If cot” 45° — sin” 45° =K sin? 30° x tan” 45° x sec” 45, then the value of K 15

1.0

2
—

313
4.2

Options :



68634030449. 1
68634030450. 2
68634030451. 3
68634030452. 4

Question Number : 13 Question Id : 6863407702 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If cot? 45° — sin® 45° =K sin® 30° x tan® 457 ¥ sec” 45, then the value of K is

[ ]
uan

3428
4.2

Options :

68634030449. 1
68634030450. 2
68634030451. 3
68634030452. 4

Question Number : 14 Question Id : 6863407703 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

. 7 . . . . -
The area of a rhombus is 120 em~ and length of its one diagonal is 24 cm. Find the perimeter of the rhombus
(in em).

1. 50

)
LN
| B

4. 56

Options :

68634030453. 1
68634030454. 2
68634030455. 3
68634030456. 4

Question Number : 14 Question Id : 6863407703 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



. 2] . . . . u
The area of a rhombus 1s 120 cm* and length of its one diagonal is 24 cm. Find the perimeter of the rhombus
(i em).

1. 50

2052

4. 56

Options :

68634030453. 1
68634030454. 2
68634030455. 3
68634030456. 4

Question Number : 15 Question Id : 6863407704 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The monthly income and expenditure of a person were 10.000 and 26.000 respectively. Next year, hiz income
increased by 15% and his expenditure increased by 8%. Then the percentage increase in his savings is:

1.20%

2
1
L

[=]

4. 52.5%

Options :

68634030457. 1
68634030458. 2
68634030459. 3
68634030460. 4

Question Number : 15 Question Id : 6863407704 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The monthly income and expenditure of a person were Z10.000 and ¥6.000 respectively. Next year, his income
increased by 15% and his expenditure increased by 8%. Then the percentage increase in his savings 1s:

1. 20%

[ B
| B
Lh

=]

4. 52.5%

Options :



68634030457. 1
68634030458. 2
68634030459. 3
68634030460. 4

Question Number : 16 Question Id : 6863407705 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Ajay said, "This girl is the wife of the grandson of my mother”. Who is Ajay to the girl?

1. Father

-2

. Father-in-law
3. Cousini
4. Brother

Options :

68634030461. 1
68634030462. 2
68634030463. 3
68634030464. 4

Question Number : 16 Question Id : 6863407705 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ajay said, "This girl 1s the wife of the grandson of my mother". Who 13 Ajay to the girl?

1. Father

12

. Father-in-law
3. Cousin
4, Brother

Options :

68634030461. 1
68634030462. 2
68634030463. 3
68634030464. 4

Question Number : 17 Question Id : 6863407706 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Two boys and two girls are playing cards and are seated at North, East. South and West of a table. No boy 1s
tacing East. Persons sitting opposite to each other are not of the same sex. One girl 15 facing South. Which
directions are the boys facing?

1. North and West
2. East and North
3. East and West

4. East and South

Options :

68634030465. 1
68634030466. 2
68634030467. 3
68634030468. 4

Question Number : 17 Question Id : 6863407706 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Two boys and two girls are playing cards and are seated at North, East. South and West of a table. No boy i3
facing East. Persons sitting opposite to each other are not of the same sex. One girl iz facing South. Which
directions are the boys facing?

1. North and West
2. East and North
3. East and West

4. East and South

Options :

68634030465. 1
68634030466. 2
68634030467. 3
68634030468. 4

Question Number : 18 Question Id : 6863407707 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statement:

1. Rabindranath Tagore wrote many poems.

I1. Every poet has aesthetic knowledge.

TI1. Aesthetic is a part of axiological study.
Conclusions:

I. Rabindranath Tagore did different axiological studies.
II. He followed the base of logic and ethics.

1. If only conclusion I follow

| B

. If only conclusion I follow
3. If either conclusion I or IT follow

4. If neither conclusion I nor II follow

Options :

68634030469. 1
68634030470. 2
68634030471. 3
68634030472. 4

Question Number : 18 Question Id : 6863407707 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statement:

I. Rabindranath Tagore wrote many poems.

II. Every poet has aesthetic knowledge.

III. Aesthetic is a part of axiological study.
Conclusions:

1. Rabindranath Tagore did different axiological studies.
11. He followed the base of logic and ethies.

1. If only conclusion I follow

| S

. If only conclusion II follow
3. If either conclusion I or II follow
4. If neither conelusion I nor II follow

Options :

68634030469. 1
68634030470. 2
68634030471. 3
68634030472. 4

Question Number : 19 Question Id : 6863407708 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Find out the missing number:

6 5 1

1.40

| B}

.44

.46

Lad

4.48

Options :

68634030473. 1
68634030474. 2
68634030475. 3



68634030476. 4

Question Number : 19 Question Id : 6863407708 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Find out the missing number:

6 5 |

2.44

46

[F¥]

4. 48

Options :

68634030473. 1
68634030474. 2
68634030475. 3
68634030476. 4

Question Number : 20 Question Id : 6863407709 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Find the missing term m the given number series.
=1 0726, 63,2 5215, 342 -0
1. 172
2. 142
3.124
4. 134
Options :
68634030477. 1
68634030478. 2

68634030479. 3
68634030480. 4

Question Number : 20 Question Id : 6863407709 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Find the missing term m the given number series.
=L, 07,20, 637 ;215,342 ..
1. 172
2. 142
3.124
4. 134
Options :
68634030477. 1
68634030478. 2

68634030479. 3
68634030480. 4

Question Number : 21 Question Id : 6863407710 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which player has won Gold in Women's Air pistol at the 65™ National shooting Championship, 20227

1. Sanskriti Bana
2.Divya T. S.
3. Manu Bhaker
4. Rhythm Sangwan

Options :

68634030481. 1

68634030482. 2

68634030483. 3
68634030484. 4

Question Number : 21 Question Id : 6863407710 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which player has won Gold in Women's Air pistol at the 65t National shooting Championship, 20227
1. Sanskriti Bana
2. DiwvyaT. 5.
3. Manu Bhaker
4. Rhythm Sangwan

Options :



68634030481. 1
68634030482. 2
68634030483. 3
68634030484. 4

Question Number : 22 Question Id : 6863407711 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
{Nobel Prize Awarde from India) (Field)
A |Kailash Satyarthi I |Chemistry
B. [Abhijit Banerjee II. |Peace
C. |Venkatraman Ramakrishnan 111. |Physics
D. [Subrahmanvan Chandrasekhar IV. |Economics

Choose the correct answer from the options given below:

1. A-IL. B-IV, C-I, D-III

| S]

CA-IV. B-IIL C-1, D-III
3. A-IL B-IV, C-II1, D-1
4. A-IIL. B-IV, C-1. D-1I

Options :

68634030485. 1
68634030486. 2
68634030487. 3
68634030488. 4

Question Number : 22 Question Id : 6863407711 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LISTII
{Nobel Prize Awarde from India) (Field)
A |Kailash Satyarthi I |Chemistry
B. |Abhijit Banerjee IT. |Peace
C. |Venkatraman Ramakrishnan III. |Physics
D. [Subrahmanyvan Chandrasekhar IV. |[Economics

Choose the correct answer from the options given below:

1. A-II. B-IV. C-1. D-III

| S]

CASIV. BAILL C-1L DAIII
3. AL, B-TV. C-II1. D-1
4, A-ITI, B-IV., C-1. D-II

Options :

68634030485. 1

68634030486. 2

68634030487. 3
68634030488. 4

Question Number : 23 Question Id : 6863407712 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Who has been awarded the first prize in the National MSME Award 20227

1. Assam

| S

. Odisha
3. Gujarat
4. Uttar Pradesh

Options :

68634030489. 1
68634030490. 2
68634030491. 3
68634030492. 4

Question Number : 23 Question Id : 6863407712 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Who has been awarded the first prize in the National MSME Award 20227

1. Assam

| S

. Odisha

L]

. Gujarat
4, Uttar Pradesh

Options :

68634030489. 1
68634030490. 2
68634030491. 3
68634030492. 4

Question Number : 24 Question Id : 6863407713 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I : When a ray of white light is passed through a prism. it gets splitted into its constituents colours.
This phenomenon is called dispersion of light.

Statement II : Rainbow is formed due to dispersion of sunlight by water droplets.
In the light of the above statements. choose the most appropriate answer from the options given below:
1. Both Statement I and Statement II are correct
2. Both Statement I and Statement II are incorrect
3. Statement I is correct but Statement II is incorrect
4. Statement I is incorrect but Statement II is correct
Options :
68634030493. 1
68634030494. 2

68634030495. 3
68634030496. 4

Question Number : 24 Question Id : 6863407713 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statement I : When a ray of white light is passed through a prizsm. it gets splitted into its constituents colours.
This phenomenon is called dispersion of light.

Statement II : Rainbow is formed due to dispersion of sunlight by water droplets.
In the light of the above statements. choose the most appropriate answer from the options given below:
1. Both Statement I and Statement II are correct
2. Both Statement I and Statement II are incorrect
3. Statement I is correct but Statement II is incorrect
4. Statement I is incorrect but Statement II is correct
Options :
68634030493. 1
68634030494. 2

68634030495. 3
68634030496. 4

Question Number : 25 Question Id : 6863407714 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ISRO zuccessfully put three satellites of which country into space orbit with PSLV-C537?

1. USA

| S]

. Singapore
3. Brazil
4. Spain

Options :

68634030497. 1
68634030498. 2
68634030499. 3
68634030500. 4

Question Number : 25 Question Id : 6863407714 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ISRO zuccessfully put three satellites of which country into space orbit with PSLV-C537?

1. USA

2. Singapore

3. Brazil

4. Spain
Options :
68634030497. 1
68634030498. 2

68634030499. 3
68634030500. 4

Part B: Computer Science and Information Technology

Section Id :

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

Section Marks :

Enable Mark as Answered Mark for Review and Clear Response :

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :
Is Section Default? :

Question Number : 26 Question Id : 6863407715 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

686340154
2

Online
Mandatory
75

75

300

Yes

0

1
686340247
Yes

null

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LISTIT
Dog : Rabies ;- Mosquito : 1. Bacteria
Amnesia : Memory o Paralysis o | II. [Liver
Meningitis - Brain - Cirrhosis 1 | 111 [Movement
[nfluenza : Virus ;- Typhoud : IV, IMalaria

=l iel e b

Choose the correct answer from the options given below:
1. A-II, B-1II, C-1, D-IV
2. A-IIL, B-IV, C-11, D-1
3. A-IV, B-III, C-II, D-I

4. A-IV, B-1IL, C-I, D-II

Options :

68634030501. 1
68634030502. 2
68634030503. 3
68634030504. 4

Question Number : 26 Question Id : 6863407715 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i 11 gl 11 9 faar &g

I ¥ 11
_[pardfes-Awse I [eitarg
sG] aard Hid - TATITd 1L [g%d

AR TaT0T 21Te- Hiess: R . [baeq
. ERgUST-fauT] - CEBIES IV, [Fiied]

FFafafad fAeal § O el 3T &1 999 Hifoie -

1. A-II, B-IIL, C-I, D-IV

glo|w=| =

2. A-IIT, B-1V, C-I1, D-1
3. A-1IV, B-1III, C-II, D-I

4. A-IV, B-III, C-I, D-II

Options :
68634030501. 1
68634030502. 2



68634030503. 3
68634030504. 4

Question Number : 27 Question Id : 6863407716 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If A, B and C are acute positive angles such that A+ B + C=m and cot Acot B cotc =K,
then

L.KS

ey

3

Lad
o
3]

4. K > i
3
Options :

68634030505. 1
68634030506. 2
68634030507. 3
68634030508. 4

Question Number : 27 Question Id : 6863407716 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3R A, B 3R C YHRIHS I HIV 3Y UPR U ¢ 96l A+ B+ C =7 3R cot A cot B
cotc=K, dd

4. K>l
3

Options :
68634030505. 1



68634030506. 2
68634030507. 3
68634030508. 4

Question Number : 28 Question Id : 6863407717 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The two adjacent sides of a cyclic QUADRILATERAL are 2 and 5 and the angle between
them is 60°. If the third side is 3, the remaining fourth side is -

1.2
A
3.4
4.5
Options :
68634030509. 1
68634030510. 2

68634030511. 3
68634030512. 4

Question Number : 28 Question Id : 6863407717 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U Afchd AGHS b &l S YSIU 2 3R 5 &, TUT 39 did Pl DIV 60° ¢ | 3R da
STl 3 & ol &t g2 el Yy &-

1.2

2.3
3.4

4.5

Options :

68634030509. 1
68634030510. 2
68634030511. 3
68634030512. 4

Question Number : 29 Question Id : 6863407718 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The top of a hill observed from the top and bottom of a building of height h is at angles of
elevation p and q respectively. The height of the hill is -

hcotg
coteg —cot p

hcot p

]

cot p—cotg

htan p
fan p — tang

hsec p
tan p — tang

Options :

68634030513. 1
68634030514. 2
68634030515. 3
68634030516. 4

Question Number : 29 Question Id : 6863407718 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

s UgTsl & Y ol febeil b $Hearg b Had & R 37k el § srdediebT b Sirel @ dl
SHD! IAG BIU HHIL: p AR q | Yelel ®l Hdls o

hcoty

cotg —cot p

hcot p
cot p—cotg

htan p
lan p —tang

hsecp
tan p—tang

Options :

68634030513. 1
68634030514. 2
68634030515. 3
68634030516. 4

Question Number : 30 Question Id : 6863407719 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement I : If the roots of the quadratic equation x*

least value of ¢ 1s 1/81.

—4x —logza =0 are real, then the

Statement IT : The harmonic mean of the roots of the equation (5+2)x® - (445 +(8+2J5) =0 1S
7

.

In the light of the above statements, choose the correct answer from the options given
below :

1. Both Statement I and Statement IT are true
2. Both Statement I and Statement IT are false
3, Statement I is true but Statement II is false

4. Statement I is false but Statement I is true

Options :

68634030517. 1
68634030518. 2
68634030519. 3
68634030520. 4

Question Number : 30 Question Id : 6863407719 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

d gl pyafeu U g

PUTI: 3R fGurfdd THidR0 2 — 4x — logza =0 & HW dRdIdh & dl a Bl Y4 Y
A 1/81 B

DU I1: YHBROT (5+/2)x — (4 +/5)x + (8 +245) = 0 & Hal DI gDl AL 2 G|
SWRId HYF & 3Teid H, i< ST T f[dhedi § F a8 Iuga I D1 9 Sy
1. YT 1 3R HUF I & U5l ¢
2. WU [ 3R B M & 91 el o
3. BYT 1 el &, ddich HYU I17Ted 6|

4. FYF 1ol 6l 6, olfdd BT 1981 5

Options :




68634030517. 1
68634030518. 2
68634030519. 3
68634030520. 4

Question Number : 31 Question Id : 6863407720 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The mean deviation from the mean of the APa.a+d,a+2d, .... a+2nd 13

—

Lohln+1)d

mln+1d
2n+1

]

f!ﬁi} + 1]{1’

lad

2n

4 nin—d

2n+1

Options :

68634030521. 1
68634030522. 2
68634030523. 3
68634030524. 4

Question Number : 31 Question Id : 6863407720 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
a.a+d. a+2d. .. a+2nd GHIGR 401 (AP ) & HIeH &1 H1<A [ gl

1. n(n+Dd

min+ 1

]

2n+1

2

4 nn-id

2+

Options :

68634030521. 1
68634030522. 2
68634030523. 3
68634030524. 4

Question Number : 32 Question Id : 6863407721 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
PENP(A!EI

B - p(Ei] Ay=—2ALED iy

A |Addition Theorem on probability| L z P(ENP(A! Ei)
=l

B. Binomial distribution I |PAnBY= PLAYVPB/ A) il P(A) =0
C. [Baye's rule L |P(AU BY=P(A)+ P{A)+ P(B)— P(An B)
D. Multiplication theorem on prob | IV, |P(x =r) =" Crp'"qn"',p- =k Loen

Choose the correct answer from the options given below:

1. A-IIL, B-1V, C-1, D-II

[

. A-IIL, B-1V, C-I1, D-1

(%]

- A-IIIL, B-II, C-1IV, D-1
4. A-1I1, B-1, C-1IV, D-1I

Options :

68634030525. 1
68634030526. 2
68634030527. 3
68634030528. 4

Question Number : 32 Question Id : 6863407721 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



=T 11 =1 1 Y A Sifog
T 1 T 11

PCEi] A) = ;Pf ENP(A!ED

=12

=1,

A AE@ @ g uEg | L > P(Ei)P(A/ Ei)

=1

B. |igug fadm 0 [P(AAB) = PCLAVPB] A).if P(A) 20

C. Fas @ Hag 1T |[P(AU B) = P(A)+ P(A)+ P(B)— P(A B)
D. [HIR¥adl &1 A0 UEg| IV |P(x =) ="C,p"¢" " r=0,1,....:

Faferiad [d®edl § O 9gl 3 &1 994 HioiT -

1. A-IIT, B-1V, C-1, D-1I

[

. A-1II, B-1V, C-11, D-1
3. A-IIT, B-II, C-1IV, D-1
4. A-IIL, B-1, C-1IV, D-1I

Options :

68634030525. 1
68634030526. 2
68634030527. 3
68634030528. 4

Question Number : 33 Question Id : 6863407722 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements : One is lebelled as Assertion A and the other is labelled
as Reason R.

Assertion A : If the A.M. and G.M. between two numbers are in the ratio m : n, then the

numbers are in the ratio ;4 fu? —n? cm—m? -

Reason R : If each term of a G.P. be raised to the same power, the resulting sequence also
forms a G.P.

In the light of the above statements, choose the correct answer from the options given
below :

1. Both A and R are true and R is the correct explanation of A
2. Both A and R are true but R is not the correct explanation of A
3. Ais true but R 1s false

4. A 1s false but R is true

Options :

68634030529. 1
68634030530. 2
68634030531. 3
68634030532. 4

Question Number : 33 Question Id : 6863407722 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



dR Sl YT U U g, ? HIHBUT (Assertion A) P BT H [Rgd T I G¥RT 3D
h[U] (Reason R)% oy

HHHUFA: 3R aﬁw&ﬁ%wﬁ?mw ( AM.)3R IUMTR A4 ( G.M.) m:n
AU HBI TS |, 2 2 2 — 2 O H Tl B

DR R: 3R TUIR 40fl & UdS Ual &1 A 9id 9 9T 3a1 91T di giRonH 6H
4t MR Yofl ST §

JURIGd DY & Hdld H, A= ST MY f[dbedi § § 9648 39 IR &I 98- Bifog
1. 3R R &I W61 § 3R R, A I U5l IR §
2. 3R R 3 WEI € 3R R, A P Ut oo 781 &
3. AYEI ¢ Al R 98l Tel ¢
4. AGEl Tl g dlbIR UGl §
Options :
68634030529. 1
68634030530. 2

68634030531. 3
68634030532. 4

Question Number : 34 Question Id : 6863407723 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let E be the ellipse §+ _‘I, 1 and C be the circle »? . ;2 =9. Let P and Q be the points (1, 2)

and (2, 1) respectively. Then
1. Q lies inside C but outside E
2. Q lies outside both C and E
3. P lies inside both C and E

4. P lies inside C but outside E

Options :

68634030533. 1
68634030534. 2
68634030535. 3
68634030536. 4



Question Number : 34 Question Id : 6863407723 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

IWﬂEEﬁaﬁﬁi§+§_{%ﬁﬁCﬁ$§ﬁxhﬁ=qHWﬂPﬁNQﬁmWﬁE{L2}
AR (2. 1) T 79

1.Q.C P 3 clfp- E & dlgx gl g

2.Q.C 3R E &l & g Edl 6|
3.P.C IREaH & X Igdl ol
4.P,C P 3faX dichd E P dige Iedl ¢

Options :

68634030533. 1
68634030534. 2
68634030535. 3
68634030536. 4

Question Number : 35 Question Id : 6863407724 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If a Chord which is normal to the parabola y* = 4ax at one end subtends a right angle at
the vertex, then its slope is -

Options :

68634030537. 1
68634030538. 2
68634030539. 3
68634030540. 4

Question Number : 35 Question Id : 6863407724 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A U Sl TRAT 12 = dax & Uh IR R @ g 3R WY IR S0 g1 © dl
ENEARAIE

]

e
[y

4.2

Options :

68634030537. 1
68634030538. 2
68634030539. 3
68634030540. 4

Question Number : 36 Question Id : 6863407725 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A straight line has equation y = —x + 6 which of the following line is parallel to it?

N

t

o s - S

I3

—3xp=3p+T=0

B2y =—x 412

Options :

68634030541. 1
68634030542. 2
68634030543. 3
68634030544. 4

Question Number : 36 Question Id : 6863407725 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



U R Y@ BT HIDPRU 8 v = —x + 6 dl 99 F I DA a1 395 GIHRR 62

1. 2y+3x =5

2. 3x-3y+T=0
3.2v=—x+12
4 gy

Options :

68634030541. 1
68634030542. 2
68634030543. 3
68634030544. 4

Question Number : 37 Question Id : 6863407726 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
sinx
. sinx )} X —sinx
i 1m : 3
A [Value of Pl 3 o 1|
. _ rsinfdr
B. [Value of |l!‘11f g IL |o
X ,”E] x°
1
C. [Value of lim(eh —I—.?{)" 15 I |1
Tl
. log(x—a)
D. [Value lll'“f of IV, |1
kil Iog(e = ] ]

Choose the correct answer from the options given below:

1. A-II, B-1II, C-1, D-1IV

2

. A-IL, B-1V, C-1I1, D-1

L]

cA-TIV, B-II, C-1I1, D-I
4. A-1IV, B-11, C-1, D-III

Options :



68634030545. 1
68634030546. 2
68634030547. 3
68634030548. 4

Question Number : 37 Question Id : 6863407726 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=T 11 =1 1 Y A Sifog

= 1 q= 11
sinx
. (sinx ) x—sinx
Ao | L) PIAMG 1 |3
B [tim [2° H1am 2 1 o
X ’”l] ¥
|
¢ |;m(€1x+x]x$ﬁﬁ:{% 1L i
x=-a()
. loglx—a
D. lln‘l# HAAE ol S
>a Iog(e —e ]

fFafafad [dedl @ 4 gg! 39 &1 984 Hifve -

1. A-IL, B-IIL, C-I, D-IV

-2

.A-IL B-IV, C-1I1, D-1

fad

. A-IV, B-1I, C-1I1, D-I
4. A-IV, B-II, C-1, D-III

Options :

68634030545. 1
68634030546. 2
68634030547. 3
68634030548. 4

Question Number : 38 Question Id : 6863407727 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LISTII

The angle between the straight lines, 2t = I
Gy —Toy=01s -

B The circles x° _}iz —x—;r=Da.t:-.v:i:c—'1 —_3»2 i1 bs

+ = — v =0 interesct at anagle
The area of circle centred at (1, 2) and 11 s
passing through (4, 6) is i

D The parabolas j': =4randx’ = w ko
" |32y intersect at point (16,8) at angle '

Choose the correct answer from the options given below:

1. A-IV, B-11I, C-1, D-1I

(]

. A-IV, B-II1, C-II, D-I

Lo

. A-IIL, B-1V, C-II, D-1
4. A-IIL, B-1V, C-1, D-II

Options :

68634030549. 1
68634030550. 2
68634030551. 3
68634030552. 4

Question Number : 38 Question Id : 6863407727 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



=T 11 =1 1 Y A Sifog

a1 T 1
wi@ﬁ_gﬁ-&g-?w:ﬂ% ElEE -1 3
&[S . » L [tan  —
?ﬁﬂT%’ 5
—1‘+r*1—03‘ﬂ—{x +35 tx—y o
8.E e s i
T 9 ol (1. 2) R Dlad & AR (4.6) T
& o i 0L o4
b, [FRETE P =4 IR =3 g 68 [ |,
REM R BE I

frafefad faemal § 9 98t 3w &1 94 Sifee -

1. A-IV. B-IIL C-I, D-TI
2. A-IV. B-IIL C-II. D-1
3. A-TIL, B-IV. C-II. D-1
4. A-III, B-IV, C-1, D-II

Options :

68634030549. 1

68634030550. 2

68634030551. 3
68634030552. 4

Question Number : 39 Question Id : 6863407728 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LISTII
|8 BL 647 I 290
1827210380 IL. |132
42 - 561107 I |342
BB 122 21687 | IV 625

o] ] o] i

Choose the correct answer from the options given below:

1. A-II, B-1, C-1V, D-1II

]

-A-IL B-I1, C-I, D-IV

L]

A-IL B-1IL, C-1V, D-1
4. A-1IV, B-1IL. C-II, D-I

Options :

68634030553. 1
68634030554. 2
68634030555. 3
68634030556. 4

Question Number : 39 Question Id : 6863407728 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i 11 gl 11 9 faar &g
T I T I

B R B T I 290
182 :7 2103801 IT. |1
47 5611027 1.3
.B8:122:: 1687 | IV |6

fFafafad fdedl 3 4 Ue! 3T &1 9894 Hifoie -

. A-II, B-1, C-1V, D-1III

o] o] f=o] g

[ [ =y R
[ )

rm—

-2

. A-IL B-IL C-I D-IV

fad

. A-II, B-III, C-1V, D-1
4. A-IV, B-III, C-II. D-I

Options :

68634030553. 1
68634030554. 2
68634030555. 3



68634030556. 4

Question Number : 40 Question Id : 6863407729 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One is lebelled as Assertion A and the other is labelled
as Reason R.

Assertion A : An elevator starts with m passengers and stops at » floors (m < n). The

probability that no two passengers alight at the same floor is —Pu

i

Reason R : If (n + 1) p is an integer. say m, then P (x = ») ="C, P9 (1 — p)*© is maximum
whenr=morr=m-1

In the light of the above statements, choose the most appropriate answer from the options
given below :

1. Both A and R are correct and R is the correct explanation of A
2. Both A and R are correct but R is not the correct explanation of A
3. A s correct but R is not correct

4. A is not correct but R is correct

Options :

68634030557. 1
68634030558. 2
68634030559. 3
68634030560. 4

Question Number : 40 Question Id : 6863407729 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



i gl py fGu T g, Uf[% SHHDBUA (Assertion A) D ¥ H [Rdd B dl I 39D
DIRUT (Reason R}% Y

AHBHUTA: T faTde i T & 1Y I il € SR » d T W Il € (ST81 (m <) |
T T W 1 A1 P TS I B Il gLz |

DRUR: lG (h‘r—ilij‘{Uﬁ?ﬁ%,IIHTHE{P(X:V):HCFPQH_})W—Q Jfipan g
old rp=mUl r=m—-11

SQRIdd DY & Held H, A= fGU Y fadhedl § 9 964 39gdd 3k &I 94 DI
1. AR R Gl G2l 8 3R R, A &1 Wl aaram @
2. A 3R R EHI Wel € 3R R, A B UL oIra Tt @
LATEI S AT R TSI TRl &
4. A el ¢ APIR UG §

Options :

68634030557. 1
68634030558. 2
68634030559. 3
68634030560. 4

Question Number : 41 Question Id : 6863407730 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Consider the adjoining diagram ; What is the minimum number of different colours
required to paint the figure such that no two adjacent regions have same colour?

N
1.3
2.4
3.5
4.6
Options :
68634030561. 1
68634030562. 2

68634030563. 3
68634030564. 4

Question Number : 41 Question Id : 6863407730 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



e 1 W & o8 =g fda= WebR & 1 i S1ovd il dfd &l Jay & &1 gar
&1 =gl fearong 2

N
TNt
&)

4.6

Options :

68634030561. 1
68634030562. 2
68634030563. 3
68634030564. 4

Question Number : 42 Question Id : 6863407731 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

These are eight members in the family. Bravo and Priva are siblings. Angel is Kajal's
grand daughter, Kajal who is Priya's mother-in-law. Ziva is a married woman and is older
than Tim. Tim is the son of Sam who is the brother-in-law of Bravo. Smith is the eldest
male in the family. Angel is not Ziva's daughter. So how is Bravo related to Ziva?

1. Son
2. Husband
3. Brother-in-law

4. Son-in-law

Options :

68634030565. 1
68634030566. 2
68634030567. 3
68634030568. 4



Question Number : 42 Question Id : 6863407731 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U JRaR H 316 ¥ & | sial 3R {1 Yis-a6 &1 Told PIoidt Pl gl § 3R
HIoid {Ua1 D1 G AT 5| Siid] U ATSIYET 3R § AR feA g 921 g1 fe0 I F1 o]
¢ Sl 991 1 IIel & | (7Y gRaR @ 99y 921 4oy § | Uold, Sitar &1 Gt 181 ¢ | dl odl
oftaT § Y Tefid g2

1. 97

2.9fd

3. Il

4. ¢lHlq
Options :
68634030565. 1
68634030566. 2

68634030567. 3
68634030568. 4

Question Number : 43 Question Id : 6863407732 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Observe the following premises and select the correct concusion :
Major premise : All engineers are innovative
Minor premise : All students are engineers.
Conclusions :
1. All innovative are students
2. All students are innovative
3. No innovative are students

4. No engineers are students

Options :

68634030569. 1
68634030570. 2
68634030571. 3



68634030572. 4

Question Number : 43 Question Id : 6863407732 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

[t uieRl 1 FRE0T B3 SR gl by T,
T URER- g4l SoilfaR A9ERl B
Ayl o @ faemdf SSiiar ¢
ey
1. gt R faeedf g
2. g4l fqemdf Aar=i ¢
3. $I3 Ao faemff et €
4. IS SoffR faemff et €

Options :

68634030569. 1
68634030570. 2
68634030571. 3
68634030572. 4

Question Number : 44 Question Id : 6863407733 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Find out the trend and choose the missing character from given alternative.

10 |
170 2 | 37
30 | 65 |

[t
n

(o)
[ 5]

Options :



68634030573. 1
68634030574. 2
68634030575. 3
68634030576. 4

Question Number : 44 Question Id : 6863407733 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fau gu arferent & e &1 Udl @ SR W1 §U ST &1

2 [ 5 [1o
17 7 |37
|50 ] 65 | 82

3.27

4,32

Options :

68634030573.
68634030574.
68634030575.
68634030576.

AW N —

Question Number : 45 Question Id : 6863407734 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



&

Which of the following will be the next figure in the sequence.

]

S B [&

Options :

68634030577. 1
68634030578. 2
68634030579. 3
68634030580. 4

Question Number : 45 Question Id : 6863407734 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



IR feupa H opra R g § 9 o1 g

S [®][&

Options :

68634030577. 1
68634030578. 2
68634030579. 3
68634030580. 4

Question Number : 46 Question Id : 6863407735 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Count the number of triangles and square in the given figure.

ANV

1. 26 triangles, 5 square

]

. 28 triangles, 5 square
3. 26 triangles, 6 square
4. 28 triangles, 6 square

Options :

68634030581. 1
68634030582. 2
68634030583. 3
68634030584. 4

Question Number : 46 Question Id : 6863407735 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

feu gu fomt & Rrygeit ok aif &t Tvem |

AN

1.26 BYS, 5
2. 28 Fryer, s
3.26 YW, 6 T
4,28 Y, 6 ¥l

Options :
68634030581. 1
68634030582. 2



68634030583. 3
68634030584. 4

Question Number : 47 Question Id : 6863407736 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the figure that which is different from the rest?

1.
2.
3.
]
4.
l
Options :

68634030585. 1
68634030586. 2
68634030587. 3
68634030588. 4

Question Number : 47 Question Id : 6863407736 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



9 o O BH o 3R I 3/ 82

1.
2
3
I
4.
I
Options :

68634030585. 1
68634030586. 2
68634030587. 3
68634030588. 4

Question Number : 48 Question Id : 6863407737 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Find the missing term in the given series :
4,10, 7, 82, 244, 730

1.24

b3

.28

(Y]

7T

4. 218

Options :
68634030589. 1
68634030590. 2



68634030591. 3
68634030592. 4

Question Number : 48 Question Id : 6863407737 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
f&u gu 4T & 9 e TRed 1 el i -

4, 10,7, 82,244,730

2,28
3.77
4,218

Options :

68634030589. 1
68634030590. 2
68634030591. 3
68634030592. 4

Question Number : 49 Question Id : 6863407738 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The tangent to the hyperbola x> — v* = 3 are parallel to the straight line 2x + v+ 8 =0 at
the following points :

L2, 20 {1, 2)
Zlldo 1)1
3.(=2,-1), (1, 2)
4.(=2,-1),(-1,-2)

Options :

68634030593. 1

68634030594. 2

68634030595. 3
68634030596. 4

Question Number : 49 Question Id : 6863407738 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



g{iﬁﬂmﬁu 2 — 32 = 3 BT W W R, [ 2x +y + 8 = 0 D H {dg3(f R THFIR

—_

o e S8 B

]

A2,~1)1(=2.1)

(W8]

A=kl
3G~

Options :

68634030593. 1
68634030594. 2
68634030595. 3
68634030596. 4

Question Number : 50 Question Id : 6863407739 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Accircle S passes through the point (0, 1) and is orthogonal to the circles (x —1)* +1° =16
and x> + 1% = 1. Then

A. Radiusof Sis 8
B.Radiusof Sis5 7
C.Centre of Sis (-7, 1)
D. Centre of Sis (-8, 1)

1. A only

-2

. Aand B only

fad

.Band C only
4. D only

Options :

68634030597. 1
68634030598. 2
68634030599. 3
68634030600. 4

Question Number : 50 Question Id : 6863407739 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



U qgd s fdg (0. 1) YRl g 3R g &l ddl (x—1)2 +12 =16 R x2+y2 =1
&9dd (orthogonal )gdl

S &I 31 88l
s &I Bt 781
S Pl b (-7, 1) Bl
. S®HI g (-8. 1)l

19 feu 7Y fasedi | ¥ ¥gl 3R 9T
1.%dd A

2. dhdd A3RB

3. %ad B3R C

4.%dd D

Options :

68634030597. 1
68634030598. 2
68634030599. 3
68634030600. 4

O N wp

Question Number : 51 Question Id : 6863407740 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements : One is lebelled as Assertion A and the other is labelled
as Reason R.

Assertion A : The number of parallelograms in a chess board is 1296.

Reason R : The number of parallelograms when a set of m parallel lines is intersected by
another set of » parallel lines is " C, . "C,

In the light of the above statements, choose the correct answer from the options given
below :

1. Both A and R are true and R is the correct explanation of A
2. Both A and R are true but R is not the correct explanation of A
3. Ais true but R 1s false

4. A is false but R is true

Options :

68634030601. 1
68634030602. 2
68634030603. 3
68634030604. 4

Question Number : 51 Question Id : 6863407740 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

dR Sl YT U U g, ? SHIHBUT (Assertion A) B ¥ H [eldd § 1 GORI IUD
h[U] (Reason R)% oy

DY A: TS & dls H THIAR AqHSI B AT 1296 B

PRI R: Od TH e F m GHIGR JQTU G0 g & » GHIR 3@1sfl $l uida
H1 ¢ O FHIGR IgHSl DI d=T "¢, . "C, Bldl B

JQRIFT DY & 3fTelid H, i ST T fdehedl H# H ad Iugad IR BT 99 Hifore
1. A SR R &I 9gl § SR R, A P| HEl AT §
2. AR RGHI 981 € 3R R, A UL ARG Tl ©
3.AYgI g AfbT R Uel el @
4. ATgI el § AfPTR WET ©




Options :

68634030601. 1
68634030602. 2
68634030603. 3
68634030604. 4

Question Number : 52 Question Id : 6863407741 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One is lebelled as Assertion A and the other is labelled
as Reason R.

Assertion A : If two circles interesect at two points, then the line joining their centres is
prependicular to the common chord.

Reason R : The perpendicular bisectors of two chords of a circle intersect at its centre.

In the light of the above statements, choose the correct answer from the options given
below :

1. Both A and R are true and R is the correct explanation of A
2. Both A and R are true but R is not the correct explanation of A
3. Ais true but R is false

4. A 1s false but R is true

Options :

68634030605. 1
68634030606. 2
68634030607. 3
68634030608. 4

Question Number : 52 Question Id : 6863407741 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



gl Py feuIu g, ? SHIHBUT (Assertion A) B ¥ H [eldd § 1 GORI IUD
h[U] (Reason R)% oy

HHHUT A: 3R &l 9d <l fagall IR Ufd=sa $d § dl 39 Dx fdgaf oI i
dTell Xl GH f51dT & ddad gidl 81

BRI R: §d & &l [S7a131i & ddad fgHed 3P dhidg Pl Uldwse Hid o
I DY b el H, 1< T MU f[ab ol # I 969 Iugad IR Bl 99 Hifory
1. AR R G 9l § IR R, A Pl Ug| ARA §
2. AR R G Yel g 3R R, A DI gl ARAT gl o
3. AT g AT R UG TRl &
4. ATEI 8! © b RS ©

Options :

68634030605. 1
68634030606. 2
68634030607. 3
68634030608. 4

Question Number : 53 Question Id : 6863407742 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

A triangle with vertices (4, 0), (-1, -1), (3, 5) is

1. Isosceles and right angled

I3

. Isosceles but not right angled
3. Right angled but not isosceles
4. Neither right angled nor isosceles

Options :

68634030609. 1
68634030610. 2
68634030611. 3
68634030612. 4

Question Number : 53 Question Id : 6863407742 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T A4S (4, 0), (-1,-1). (3. 5) Q¥ ard

1. GHIGETE SR GHSIUR g |

2. GHIGETE § dich1 GHDIOY g1 ¢
3. GHPIY ¢ didh- gHfgalg -1l ¢
4. =1 ol GHBIOM ¢ 11 GHIGHTE o

Options :

68634030609. 1
68634030610. 2
68634030611. 3
68634030612. 4

Question Number : 54 Question Id : 6863407743 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :
i

(¢

a
Statement I : [ 7(x)dx = [[£(x)+ £ (~x))dx
7] ]

] —
Statement IT : [Jo+x+x*) dx is less than or equal to '—;

1]

In the light of the above statements, choose the most appropriate answer from the options
given below :

1. Both Statement I and Statement II are correct
2. Both Statement I and Statement IT are incorrect
3. Statement I is correct but Statement II is incorrect

4. Statement I is incorrect but Statement II is correct

Options :

68634030613. 1
68634030614. 2
68634030615. 3
68634030616. 4

Question Number : 54 Question Id : 6863407743 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



:ﬁa“‘a“ﬁmﬂmmz%
PYAT: J-f{\‘lcl"\ f[fl\}+}‘{ x)]elx

DU : j'\,flul{lu ) dx 0 HH T RIS 61
Gﬂﬂaﬁam?raswf[ i feu U faspodl # ¥ 9ad I9gdd IR Bl 90+ Hifoly

1. BYT1 3R HUF T o Uel &
2. HYF 1 3R Y 11 S Ge I8 ©
3. HY 1 Yel g, didh BYF 1 7dd

4. FU 1Yol Fol o, Al BYF 11 Ul &

Options :

68634030613. 1
68634030614. 2
68634030615. 3
686340300616. 4

Question Number : 55 Question Id : 6863407744 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One is lebelled as Assertion A and the other is labelled
as Reason R.

Assertion A : [ (' +35)dc =30
_3

Reason R : 7(x)=»"+5 1s an odd function

In the light of the above statements, choose the correct answer from the options given
below :

1. Both A and R are true and R is the correct explanation of A
2. Both A and R are true but R is not the correct explanation of A
3. A s true but R is false

4. A is false but R is true

Options :

68634030617. 1
68634030618. 2
68634030619. 3



68634030620. 4

Question Number : 55 Question Id : 6863407744 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gl pUA feu U §, gﬁ ST (Assertion A) P ¥U H IR g ol GURI 39D
D RUT (Reason R)$ Rt

3
HPYT A - j (x> +5)dx =30
=

BRUR : £(x)=x° +5UP [A9H B 5l

SWRIdd HYF & el H, i 3T 7T [dbedl § 9 a8 Iugad IR &1 99 DI
A SRR G gl ¢ SRR, A P! Hel ARAT §

AR RGH TEl g SRR, AP U URAT Tl ©

ATEI g BT R TS TRl §

4. AgI gl g dfbARYSI §

Options :

68634030617. 1
68634030618. 2
68634030619. 3
68634030620. 4

—

b2

fad

Question Number : 56 Question Id : 6863407745 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following functions is differentiable at x = 0?

[a—

. €os (|x]) + |x|

]

. cos (|x]) — |x|

(%]

. sin (Jx]) + |x|
4. sin (x]) — x|

Options :

68634030621. 1
68634030622. 2
68634030623. 3



68634030624. 4

Question Number : 56 Question Id : 6863407745 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
79 5 9 S T BT x =0 R 3dDHa-g g7

. €05 (|x]) + x|

—

[

. €0os (|x]) — |x|

L]

.sin (|x)) + x|

I

. sin (|x]) — |x|

Options :

68634030621. 1
68634030622. 2
68634030623. 3
68634030624. 4

Question Number : 57 Question Id : 6863407746 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If fand g are differentiable functions in (0, 1) satisfying fl0) =2 = g(1), g(0) =0 and f{l) =
6, then for some ¢ €]0, 1]

1.2f"(c)=g'(¢)
2.2f"(c)=3g"(c)
3.f'(e)=¢'(c)
4.1 (c)=2¢"(¢)
Options :
68634030625. 1
68634030626. 2

68634030627. 3
68634030628. 4

Question Number : 57 Question Id : 6863407746 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



AR 3R g (0. 1) H AAHAFT BAT 6 ol A0) =2 = o(1), 2(0) =0 and A1) = 6, Pl
¥ P A DD ¢ €10, 1[ D AU

1.2f " (c)=g' (¢)
2.2f"(e)=3g' (¢)

3.7 "6} =2 (&)
4.f'"(c)=2¢"(c)
Options :

68634030625. 1
68634030626. 2
68634030627. 3
68634030628. 4

Question Number : 58 Question Id : 6863407747 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
o, . .
If the curve ay + x> = 7 and x* = y, cut orthogonally at (1, 1), then the value of a is -

1.1

3.6
4.0

Options :

68634030629. 1
68634030630. 2
68634030631. 3
68634030632. 4

Question Number : 58 Question Id : 6863407747 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



AR TP ay+x2=7 AR x3 =y, Tdg (1. 1), W FHGd (orthogonally ) PTed g @l a Bl
M -

(]
=)

L

.—6
4.0

Options :

68634030629. 1
68634030630. 2
68634030631. 3
68634030632. 4

Question Number : 59 Question Id : 6863407748 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One is lebelled as Assertion A and the other is labelled
as Reason R.

Assertion A : If a#£ b, then (a. b) £ (b. a)
Reason R : (4. — 3) lies in quadrant IV,

In the light of the above statements, choose the correct answer from the options given
below :

1. Both A and R are true and R is the correct explanation of A
2. Both A and R are true but R is not the correct explanation of A
3. Ais true but R is false

4. A is false but R is true

Options :

68634030633. 1
68634030634. 2
68634030635. 3
68634030636. 4

Question Number : 59 Question Id : 6863407748 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



gl Py feuIu g, ? SHIHBUT (Assertion A) B ¥ H [eldd § 1 GORI IUD
h[U] (Reason R)% oy

HHBYTA: TG o # b. dd (a. b) # (b, a)

PRI R: (4. — 3) AU HIT (IV) HIGAT B

JWRIFT HYF & 3Telld H, i ST T f[dhedl § § g Iugadd IR BT 99 HIfoU
1. AR R &I 9gl ¢ 3R R, A P! Ug| URAT g
2. AR R G Yel g 3R R, A DI Gg! ARAT gl ©
3.ATGI 8 AR TRl 6l B
4. ATEI 8! © Al R TSI ©

Options :

68634030633. 1
68634030634. 2
68634030635. 3
68634030636. 4

Question Number : 60 Question Id : 6863407749 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The point(s) at which function fis given by f(x)=1 x|’ is continuous is/are

LR

2.x=0

3.x R\ {0}

4. -1 and 1
Options :

68634030637. 1
68634030638. 2
68634030639. 3
686340300640. 4

Question Number : 60 Question Id : 6863407749 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fo- T O e £ o i kg TR I 272

| - x20]
LxeR
2.x=0
3.xELEN {0}

4.-1 3R 1

Options :

68634030637. 1
68634030638. 2
68634030639. 3
68634030640. 4

Question Number : 61 Question Id : 6863407750 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LIST IT
A |No. of triangles formed using 5 points in a line and 3 poinis on parallel line 1y 1. |20
B. [No. of diagonals drawn vsing the vertices of an octagon II. |10
C. |The no of diagonals in a regular polvgon of 100 sides 15 I |43
D. A polygon with 35 diagonals has sides IV. 4850

Choose the correct answer from the options given below:

1. A-1, B-1I, C-II1, D-1V

]

. A-IL B-II, C-1, D-IV

Tad

CA-IIL, B-1V, C-1, D-II
4. A-IIT, B-1, C-1V, D-II

Options :

68634030641. 1
686340300642. 2
68634030643. 3
68634030644. 4

Question Number : 61 Question Id : 6863407750 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Gl 11 gl 1 Y A Sifoy

T 1 T I
A |od T H 5 fdgail 311 39 iy a1 H 3 gl 4 Bys 94 o gebd| L o
B [#FYS & WY & SUNT H3b, fha-l Gl H &0l g o Gl © 1 [io
& mowaﬁanﬁﬁtrﬁimaggaﬁwa‘lw 1. |45
D. [35 U arci dg4s B Yolld & 1v. 1850

[gieRad [deel 4 9 98] 3R &1 994 DI :

1. A-I, B-1I, C-III, D-IV

(]

.A-II B-IIL, C-1, D-IV
3. A-IIL, B-1V, C-I, D-1I
4. A-IIT, B-1, C-1IV, D-1II

Options :

68634030641. 1
68634030642. 2
68634030643. 3
68634030644. 4

Question Number : 62 Question Id : 6863407751 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is true :

A.Ifacos A=bcos B, then the triangle is isosceles or right angled.

B. If in a triangle ABC, cos A cos B + sin A sin B sin C =1 then the triangle is 1sosceles
right angled.

C. If the ex-radii r1, 12, 13 of AABC are in the HP, then it's sides are not in AP

Choose the correct answer from the options given below :

[a—

A and B only

]

B and C only

LS

B and C only
4. B only
Options :

686340300645. 1
686340300646. 2



68634030647. 3
686340300648. 4

Question Number : 62 Question Id : 6863407751 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FgA 990 &:

A Tf¢ acosA=bcos B, ﬁﬁ%ﬂﬁ@ﬁ]@ﬂﬂﬂﬁﬁuﬂﬂ%!
Bqﬁrﬁﬂ_ﬂﬁ'}ﬁ? ABC H . cos A cos B + sin A sin B sin C =1 H@ﬁﬂﬁm
TSI &
C. TfE (ex-radii) STRT AT 11, 12, 13 A4S AABC H HP.(EUES 4Uit ) H g T 3UD!
YWt AP (THiaR Aufhd el 2
= feu U fdsedl & 9 98l ST FHT
1. $dd A 3B
2. %ad B3R C
3.ad B3R C

4, $Hdd B

Options :

686340300645. 1
68634030646. 2
68634030647. 3
686340300648. 4

Question Number : 63 Question Id : 6863407752 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements : One is lebelled as Assertion A and the other is labelled
as Reason R.

. g . ' i
Assertion A : flx) = tan” x is continuous at x = /2

Reason R : g(x) = x* is continuous at x = /2

In the light of the above statements. choose the correct answer from the options given
below :

1. Both A and R are true and R is the correct explanation of A

-2

. Both A and R are true but R is not the correct explanation of A

Tad

. A is true but R 1s false

4. A is false but R is true
Options :
68634030649. 1
68634030650. 2

68634030651. 3
68634030652. 4

Question Number : 63 Question Id : 6863407752 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I &l $Y fGU U g, gﬁ ST (Assertion A) P ¥U H IR g ol GURI 39D
D RUT (Reason R)$ Rt

HUBYT A : fix) = tan® » AT © atx =12 W

PRUIR : o(x) =% is GAT § ax=22 R

IWIGd Y & 3Tl H, [ 3T T fdh el # ¥ 969 Iugad IR &l 99 BIfoT
A SR R Gl 98l § 3R R, APl Hgl IRA §

. A SRR &Il 9gl g SRR, A P Ug! URA -Tgl &

AT APIR TS TRl §

AT el g AT R WET 8

Options :
68634030649. 1
68634030650. 2

—_

b2

L]

oY



68634030651. 3
68634030652. 4

Question Number : 64 Question Id : 6863407753 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
. | ) .
For 0 < 8 < /2, the solution(s) of >’ :;r cosec (H +(m- l}% ]coesc(ﬂ - %J = 4+/2 is/are

A w4
B. /6
G 12
D. 5n/12

Choose the correct answer from the options given below :

P

.Aand B only

(]

. C and D only

(]

. Aand C only

4. B and D only

Options :

68634030653. 1
68634030654. 2
68634030655. 3
68634030656. 4

Question Number : 64 Question Id : 6863407753 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



k|

0<0<m2, gﬁﬁffq (s) of Zipfcasec[ﬂ+[m— l)choesc(B+—) 42 3:I'I:[_E:' %‘

A.m/4
B. /6
C. /12
D. 5n/12

4 feu e faedl § § 98l 3R gHT
|. hdd AR B
2. Hdd C 3R D
3. had AR C
4. %99 B 3R D

Options :

68634030653. 1
68634030654. 2
68634030655. 3
68634030656. 4

Question Number : 65 Question Id : 6863407754 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If sin P is the GM between sin o and cos o, then cos 2p is equal to

. 2sin’ [g —{1]

[

b2
]
o
=

o]

-hlzd
Q

Options :

68634030657 1
68634030658. 2
68634030659. 3
68634030660. 4



Question Number : 65 Question Id : 6863407754 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e sinf,sina AR cos (1,35@?[37—[(}3{{1_ Uflﬂqrﬁ‘iﬂﬂ}% cos ZBW%

1. 2sin®

4:a|r4

I3

—ik

-b-lFl

2

LS

. 2¢C08%

5-
5-

-f-‘*I::I

+ O

.
|
)
oo

Options :

68634030657. 1
68634030658. 2
68634030659. 3
68634030660. 4

=3

Question Number : 66 Question Id : 6863407755 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The value of elogl0 tanl® + logl0 tan2° + logl0 tan 3° + ... ... .., ... + log10 tan 89° ;o

1.0

Options :

686340300661. 1
68634030662. 2
68634030663. 3
68634030664. 4

Question Number : 66 Question Id : 6863407755 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The value of 010 tanl® +logl0 tan2® ~logl0tan 3° ~ . .. . .. +logl0 tan 89° g7 {TH

)
™

4.1

Options :

686340300661. 1
686340300662. 2
68634030663. 3
68634030664. 4

Question Number : 67 Question Id : 6863407756 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One is lebelled as Assertion A and the other is labelled
as Reason R.

Assertion A : If dot product and cross product of ; and j are zero, it implies that one of the
vector ; and 3 must be null vector

Reason R : Null vector is a vector with a zero magnitude.

In the light of the above statements, choose the correct answer from the options given
below :

1. Both A and R are true and R is the correct explanation of A
2. Both A and R are true but R is not the correct explanation of A
3. A s true but R is false

4. A is false but R is true

Options :

68634030665. 1
68634030666. 2
68634030667. 3
68634030668. 4

Question Number : 67 Question Id : 6863407756 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



I &l $Y fGU U g, gﬁ ST (Assertion A) P ¥U H IR g ol GURI 39D
D RUT (Reason R)$ Rt

3B Y A A ; R ; & e PHGH IR B oG I ¢ | 98 ar s b
qicgl s 3R 4 ( null vector) %

Reason R : 7 99X (Null vector) Ush dae & e URHTU Y4 Bl 5 |
SWRId HYA & 3Telid H, i< 4T 7T f[dhedl # I o Iugad IR T 99 DIfT
1. A 3R R &I 9l § IR R, APl Ug| URAT §
2. AR R G ¥al g 3R R, A DI gl ARAT gl ©
3. ARl € AfhT R TR 6l &
4. ATEI TS BB R Bl §

Options :

68634030665. 1
68634030666. 2
68634030667. 3
68634030668. 4

Question Number : 68 Question Id : 6863407757 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

v : : 0.
If 4. are two unit vectors and 6 is the angle between them, then cos_ 1S equal to

| g
1. j m+

(]

|m—ny|

b | =

1 s y
3 . 2 Hy.m
Liny % 11
4, .
2\m || ns |
Options :

68634030669. 1
68634030670. 2
68634030671. 3
68634030672. 4



Question Number : 68 Question Id : 6863407757 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

R A : ﬁwﬁéﬁ?m%aﬁwwﬁaﬂawﬁm%aﬁmgw%

1 A
I " ‘) m+
| A
2= | —H |
= 2
3. in
e R Hy.m
4 Liny % 11
2\m || ns |
Options :

68634030669. 1
68634030670. 2
68634030671. 3
68634030672. 4

Question Number : 69 Question Id : 6863407758 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The moment of the couple formed by the forces s.; and _5_; acting at the points (9, -1, 2)
and (3, -2, 1) respectively. is

eyt
2. ~ 1411 75k
3. feil jask
4. ."—-lf—f_?lfa’.

Options :

68634030673. 1
68634030674. 2
68634030675. 3
68634030676. 4

Question Number : 69 Question Id : 6863407758 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Al 40 AR g GRITEGT (9, -1, 2) 3R (3,2, 1) TR HHYT: T T GiHi P
T I gIT:

Foa s
L. 1l r—j+5k

[

T LR
Be ey
4. i-j-sk
Options :

68634030673. 1
68634030674. 2
68634030675. 3
68634030676. 4

Question Number : 70 Question Id : 6863407759 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is true :

A. Two vectors are said to be identical if their difference is zero.
Velocity is not a vector quantity.

C. Projection of one vector on another is not an application of dot product.

D. The maximum space rate of change of the function which is increasing direction of
line function is known as gradient of scalar function.

Choose the most appropriate answer from the options given below :
1. B and C only
2. Aand C only
A and D only

4. B and D only

Options :

68634030677. 1
68634030678. 2
68634030679. 3
68634030680. 4

Question Number : 70 Question Id : 6863407759 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Frafafad & 9 oH el g

A. Gl 9ia=1 o] YHM dd Bl §ildl g gi 396! ik YA g
B. 71fd U Hiaw AR -1E1 3
C. U iR T ¢aY U W&l SIc BT U |

D. e & URdd oI ffUhad M &R ol dig-1 Ba- Pl 9gal 8 1620 5, ThaR
B & UauIdl & U H SIHT SIdl g |

i feu v fasbedl | ¥ 98l 3w gAY
1. $dd B AR C
2. FATA AR C
3. %had AJRD
4. %dd BIRD

Options :

68634030677. 1
68634030678. 2
68634030679. 3
68634030680. 4

Question Number : 71 Question Id : 6863407760 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The unit vectors orthogonal to the vector _;.2}+24 and making equal angles with the x and
v axis is (are)

1. 1--!:3:4-2,}' 2k)

I~
I+
8
+. 5
L

|
=

Options :

68634030681. 1
68634030682. 2
68634030683. 3
68634030684. 4



Question Number : 71 Question Id : 6863407760 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ShIs G TG _j.2j.00 P QDI x AR 3 3efl & 1Y U S0 41 ¢ (2)

I A .
L.# iIE.ﬂ' +2 j-2k)

1 ~ & ’
2 i;tH_;‘—.ﬁ'}

4. i%g}—z}'—zh

Options :

68634030681. 1
68634030682. 2
68634030683. 3
68634030684. 4

Question Number : 72 Question Id : 6863407761 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement I : The angle between the vectors 2154 and »;_j_; 1S /2

Statement IT ;: The vector ax(sx ¢) is coplanar with ; and

In the light of the above statements, choose the correct answer from the options given
below :

1. Both Statement I and Statement IT are true
2. Both Statement I and Statement II are false
3. Statement I is true but Statement II is false

4. Statement I is false but Statement I is true

Options :

68634030685. 1
68634030686. 2
68634030687. 3
686340300688. 4

Question Number : 72 Question Id : 6863407761 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

i 2l B fGu T B

BUTL: QR 55,374 AR 25_5; DI BT DI 1/2

DY : ISR Juindy. 2 3R 3 DAY GHAAG B

IWRIad HY & 3l H, i 3 T [l H @ 9ad 3ugad 3R &l 99 i

1. YU 1 3R U 1 HI Tel &
HYT 1 3R HYA M aH T ©
DY 1ol 6, Al HUF 1170 §
4. YA 1A 5. Albd HUT I G| ©

[

fad

Options :

68634030685. 1
68634030686. 2
68634030687. 3
68634030688. 4

Question Number : 73 Question Id : 6863407762 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If the unit vectors ; and 7 are inclined at an angle 26 such that |7-7 <land 0 <6 <m,
then O lies in the interval.

1. [0, 1/2]

2. [5m/6, m]

3. [W/6, 1/2]

4. [m/2, 5n/6]
Options :
68634030689. 1
68634030690. 2

68634030691. 3
68634030692. 4

Question Number : 73 Question Id : 6863407762 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



g 3PTs UAW 3 3R 3 DIV 26 SUUBR I 8T TP 2 <13Ro<0<n @ 0
RIS H 5 6

1. [0, 1/2]

]

. [5n/6. ]

L]

. [m/6, mi2]
4. [m/2, 5m/6]

Options :

68634030689. 1
68634030690. 2
68634030691. 3
68634030692. 4

Question Number : 74 Question Id : 6863407763 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Each of the angle between vectors ; and ¢ 1S equal to 60°. If | 71=4, 5 |=2 and | & =6 then
the modulus of ;. 5,2 IS

1. 10

2

. 15

4. 20

Options :

68634030693. 1
68634030694. 2
68634030695. 3
686340300696. 4

Question Number : 74 Question Id : 6863407763 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



gfe=r 2 7 3R 2 o BT U DIV 60° B RIER ST (214,812 AR 216
2.3,2 DIAMD g
1. 10

2. 15

4. 20

Options :

68634030693. 1
68634030694. 2
68634030695. 3
68634030696. 4

Question Number : 75 Question Id : 6863407764 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
If 4=2i+27+3k B =-i+2j+k and ¢ =3;+; are such that 7,5 is prependicular to 2 then
determine the value of y?

1.5
2.0
3.4
4.8
Options :
68634030697. 1
68634030698. 2

68634030699. 3
68634030700. 4

Question Number : 75 Question Id : 6863407764 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T Gonivajesh B=isayek 3R 2o3iy) TWREAG® 2,42, 2 PTadgdly oI
T J1d Hifore?

1.3
2.0
3.4

4.8

Options :

68634030697. 1
68634030698. 2
68634030699. 3
68634030700. 4

Question Number : 76 Question Id : 6863407765 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement I : The number of different number each of 6 digits that can be formed by using
all the digits 1. 2, 1, 0, 2, 2 15 50.

Statement IT : These are 4536 possibilities of writing the four digit numbers which have all
distinct digits.

In the light of the above statements, choose the correct answer from the options given
below :

1. Both Statement I and Statement II are true
2. Both Statement I and Statement IT are false
3. Statement I is true but Statement II is false

4. Statement I is false but Statement II is true

Options :

68634030701. 1
68634030702. 2
68634030703. 3
68634030704. 4

Question Number : 76 Question Id : 6863407765 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



i gl HYH feU W E:

HYUA I GHI 3feh 1,2,1,0,2,2 BT ITANT b ST, ST Heb dIeil 6 el Bl Sfefl-
3T W13 Pl T2 50 & |

HUYF I TR APl DI & Bl foRa BT 4536 UG §, T i HTHT-3TT 5
SR BYH & 3Tl H, A1 U T fdebedi | ¥ 99 Iugdd IR BT 90 DIy
1. YT 3R FYT I TE &
2. YA 1 R HYF 11 &HI Td §
3. BYT1 TG 6, dich1 Y 1 7Ted §
4. YA 17Ad 5. Al HUF 11 Ugl ©

Options :

68634030701. 1
68634030702. 2
68634030703. 3
68634030704. 4

Question Number : 77 Question Id : 6863407766 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A person goes in for an examination in which there are four papers with a maximum of m
marks from each paper. The number of ways in which one can get 2m marks is

| A 5
| -%{m FIN2m™ +4m+1)

2 l-,'l-”i"”][jm: +dm+2)
3. :];':H'-'-— (2 +4m+3)
P
4 . 2m+3 (.1_1,
Options :

68634030705. 1
68634030706. 2
68634030707. 3
68634030708. 4

Question Number : 77 Question Id : 6863407766 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Uh ldd Ueh TR1&T & [l STl g orH Udd UuR U S dH m 3! & 91U IR YR
gid o | TRIP! &1 T3 forH Blg 2m 3 UK HR Jhell o |

| =
1. -%-{m FIN2m™ +4m+1)

[

1 e g
h ;lm+1)[2m‘ +dm+2)

L]

1 v
5 ;iim-'— I 2m™ +4m+3)

4, ¥,

3

Options :

68634030705. 1
68634030706. 2
68634030707. 3
68634030708. 4

Question Number : 78 Question Id : 6863407767 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If A, B and C are any three sets, then

A A=B NOy={AN B)=(A1C)
B.A-(BUC)=(A-B)N(A-C)
C.n(A-B) =n(A)-n(AMNB)

DANB-CO=ANB) N(A-C)

Choose the most appropriate answer from the options given below :

1.A, B, Conly
2.B,C, D only
3.C,Donly
4. B, C only

Options :

68634030709. 1

68634030710. 2

68634030711. 3
68634030712. 4

Question Number : 78 Question Id : 6863407767 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Tfg A, B 3R C By dH G g, dlI

AA-BNCO=ANB) -(ANC)
BA-(BuQO)=(A-B)N(A-C)
C.n(A-B) =n(A)—-n(AN B)

DANB-C)=ANB) N(A-C)

i feu e fasedi § 9 WE IR gHT
1.HAd A. B, C
2. $dd B,C.D
3.9dd C,D
4. $H9AB. C

Options :

68634030709. 1
68634030710. 2
68634030711. 3
68634030712. 4

Question Number : 79 Question Id : 6863407768 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If each of n numbers x; =i is replaced by (i + 1) x;, then the new mean is

(n+1}n+2)

=

n

(]

. n+1

(n+1n+2)
3

(m+1)5n+4)
4

Options :

68634030713. 1
68634030714. 2
68634030715. 3
68634030716. 4

Question Number : 79 Question Id : 6863407768 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



gie Ul T v, =i Bl (i + 1) x;, Y dad 1491 SY ol 191 H1e g |

1 _{n+lll{_u+.2}

"

-2

.n+1

3 (m+1n+2)
DT

4 (m+1¥5n+4)
i}

Options :

68634030713. 1
68634030714. 2
68634030715. 3
68634030716. 4

Question Number : 80 Question Id : 6863407769 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The H.P. of two numbers is 4 and the arithmatic mean A and geometric mean G satisfy the
: 3
relation 2A + G- = 27, the numbers are

2.5,4
3.5,-25

4.-3,1

Options :

68634030717. 1
68634030718. 2
68634030719. 3
68634030720. 4

Question Number : 80 Question Id : 6863407769 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



<1 emell BT H.P(EIHD 401 4 8 3R THR A1 A 3R T0MR A1 G et 24+
2 27, %1 P Pl 5, AN &

1:6,3

2.5,4

4.-3,1

Options :

68634030717. 1
68634030718. 2
68634030719. 3
68634030720. 4

Question Number : 81 Question Id : 6863407770 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If every pair from among the equation x* + px + gr=0, x> + gx + rp =0 and x> + rx + pg
= 0 has @ common root, then the product of three common roots is

1. pgr

2. 2pgr

5

3. ng‘r-
4, ngrl

Options :

68634030721. 1
68634030722. 2
68634030723. 3
68634030724. 4

Question Number : 81 Question Id : 6863407770 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Tfe IR x3+px+—qr=0.x2+qx+rp=0Sﬂ?xz+iw+pq=0 Eal Wwfﬂa
T D10 Jd ¢ | Tl il DIH- Jal 1 0B § :
1. pgr

2. 2pgr
q. qulrl

4. pzqu

Options :

68634030721. 1
68634030722. 2
68634030723.3
68634030724. 4

Question Number : 82 Question Id : 6863407771 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A. If A and B are two invertible matrices, then (AB)™! =A~1 B!

B. Every skew-symmetric matrix of odd order is invertible

C. If A is non-singular matrix, then (A7)l =(A™1)T

D. If A is an involutory matrix, then (I+A)(I-A)=0

E. A diagonal matrix is both an upper triangular and a lower triangular

Choose the correct answer from the options given below :

1.A, B.C,E only

| ]

. B, D, E only

ol

.A. D, E only
4.C,D, E only

Options :

68634030725. 1
68634030726. 2
68634030727. 3
68634030728. 4

Question Number : 82 Question Id : 6863407771 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



frafafad ®# 9 @ 9 9el 62

AT AR B U@ BfcF g al (AB) ! = A1 B!

B. fa9H &H 1 Ud® a1 gaiEd Afde uiddid gidi ol

C. If¢ A TH IR HehHUI HicR g, dl (A7) = (a )T

D. 4l AUH =55 dicad e, dl (I +A) I1-A)=0

E. famul Bfeaq te S Hwivia ok e e Baia g g

= fu U fadeni | ¥ Wel IR gHY

|.$dd A, B, C.E
2. $9d B, D, E
3. $H9dA.D.E
4. $ddC,D.E

Options :

68634030725. 1
68634030726. 2
68634030727. 3
68634030728. 4

Question Number : 83 Question Id : 6863407772 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

2 3

!:r Fa B

2

If x, v, z are all distinct and |y 3 1+*|=0 , then the value of xyz is

2 3
z =z l+=

1.2
A
3.3
4.0

Options :



68634030729. 1
68634030730. 2
68634030731. 3
68634030732. 4

Question Number : 83 Question Id : 6863407772 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

x 22 1+x
qid v, vz G ATE R | 32 14y}=0 Al xyzBIAAT
z 2z 14z

1.-2
2.—1
3.-3
4.0
Options :

68634030729. 1
68634030730. 2
68634030731. 3
68634030732. 4

Question Number : 84 Question Id : 6863407773 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Leta= ms%ﬂ i jgin%n a=a+a®+a* and B = & +a° + g then the equation whose root

are o, [ 18

Lx*+x+2=0

]

o Ex—2=0

,
X —x—-2=0

(]

~

4.x“—x+2=0

Options :

68634030733. 1
68634030734. 2
68634030735. 3
68634030736. 4



Question Number : 84 Question Id : 6863407773 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

™

HiH r‘:iIIG!Q azcnsz?ﬂ-nsin%,a:a-l-az +a* 3R ﬁ:g3 ra’ +a s dl 9B [orgdh

qd a.p ©

L.x*+x+2=0

2.x24+x-2=0

Options :

68634030733. 1
68634030734. 2
68634030735. 3
68634030736. 4

Question Number : 85 Question Id : 6863407774 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If Ay, A, be two AM's and Gy, G, be two GM's between a and b, then f:—‘lt—“— is equal to

a+h
2ab

2ab

a+b

]

3 a+h
T ab

4 a+b

\"I [ ;‘i

Options :

68634030737. 1
68634030738. 2
68634030739. 3
68634030740. 4

Question Number : 85 Question Id : 6863407774 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TR Ay A, & TH YUR T (AM) 3R Gy, G, &l SITH(GM) AR 18T, @ 3R b
S, dl i ReRe

GG

+h
L
2ab

2ab

a+h

q atb
o abh

4 a+b

Jab

Options :

68634030737. 1
68634030738. 2
68634030739. 3
68634030740. 4

Question Number : 86 Question Id : 6863407775 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
If f: R — R defined as of flx) = x= + 1 then minimum value of f{x) is
1.4
2.3
3.2
4.1
Options :
68634030741. 1
68634030742 2

68634030743. 3
68634030744. 4

Question Number : 86 Question Id : 6863407775 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



G £: R — RPI fx) =2 + 1 GRI GRHING {631 ST g 1 Ax) BT TAGH A B
1.4
53
3.2

4.1

Options :

68634030741. 1
68634030742. 2
68634030743. 3
68634030744. 4

Question Number : 87 Question Id : 6863407776 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A.If (12 P)3 = (123)p, then value of P is infeasible.

B. The simplified sum of product form of the Boolean expression is
(P+@+RLIP+0+RL(P+Q+R) IS (P+QR).

C. The minimum number of D flip - flops needed to design a mod(258) counter is 8.
Choose the correct answer from the options given below :

1. A only

2. Aand B only

3. Aand C only

4. C only

Options :

68634030745. 1
68634030746. 2
68634030747. 3
68634030748. 4

Question Number : 87 Question Id : 6863407776 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A.TfE (12 P); = (123)p. 11 P 1T GUTH T |

B. Sfe1T USD P40+ R.(P+ 0+ RLP+ 0+ B) D IO ] IRelIDd ANT (p+3R) B

C. HIS (258) D13 Bl fEOlZ P & AU 3{1d20eh D-ed -Gy BT TAdH H&=AT

8T

AT feu 7Y fadh el ® ¥ Hel 3R IHT

1. APdd

2. Hdd AR B

3. Hdd AR C

4, Had C

Options :

68634030745. 1
68634030746. 2
68634030747. 3
68634030748. 4

Question Number : 88 Question Id : 6863407777 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A RAM chip has a capacity of 1024 words of 8 bits each (1k x §). The number of 2 x 4
decoders with enable line needed to constructa 16k x 16 RAM from 1 k x 8 RAM 1s

1.5
2.4
3.7

4.6

Options :

68634030749. 1
68634030750. 2
68634030751. 3
68634030752. 4

Question Number : 88 Question Id : 6863407777 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Udh RAM [0 A 8 bits (1k = 8) & 1024 Ysal b1 &HT GIcll 81 W& (enable) XT3l (
line) & TIY 2 x 4 [SHIST Bl TWAT 16k x 16 RAM I 1 k x 8 RAM bl g1 & [l
HAGPH el

1.5
2.4
3.7

4.6

Options :

68634030749. 1
68634030750. 2
68634030751. 3
68634030752. 4

Question Number : 89 Question Id : 6863407778 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A 32 bit wide main memory with a capacity of 1 GB 1s built using 256 m x 4 bits DRAM

chips. The number of rows memory cells in the DRAM chip is 2!%. The time taleen to
perform one refresh operation is 50 nanoseconds. The refresh period is 2 milli seconds.
The percentage (rounded to the closest integer) of the time available for performing the
memory read/write operations in the main memory unit is

4.61

Options :

68634030753. 1
68634030754. 2
68634030755. 3
68634030756. 4

Question Number : 89 Question Id : 6863407778 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



256 m 4 bits DRAM =I5 1 IYTNT 1 Siidl Pi &1 drell 32 foe ISt g=1 7nRd
15 75 o | DRAM o0 H HHR] I &I Uldkadl &1 I gl 214 81 U by
YRR ! YR HA &1 GHY 50 411D S g | Kby arafer 2 forcil 9dbs g1 J aaid
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GED |

1.56
2, 39
3.54
4.61

Options :

68634030753. 1
68634030754. 2
68634030755. 3
68634030756. 4

Question Number : 90 Question Id : 6863407779 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is a correct definition of volatile memory?

1. It does not retain its contents at high temperature

]

It is to be kept in air tight box

(%]

. It loses its contents on failure of power supply

4. It does not lose its content on failure of power supply

Options :

68634030757. 1
68634030758. 2
68634030759. 3
68634030760. 4

Question Number : 90 Question Id : 6863407779 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



greicTgd AART @ fAgfefad # 3 ugl aren g2
1. g (YD AGAM TR 301 G (STeT) Bl sSRHIR ol &l ¢
2. 3BT gaT AP I H 3@ ST o
3. U faoielt & 3myfd i fawerd 9R 39+t qrvi(Sren @l adi
4. g farotell 1 3yl Pt fatdar U (U=t aedi(STen) & gl @idi 6

Options :

68634030757. 1
68634030758. 2
68634030759. 3
68634030760. 4

Question Number : 91 Question Id : 6863407780 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Consider the expression (@ — 1) * (((b+¢) / 3) + d). Let x be the minimum number of
registers required by an optimal code generation (without any register spill) algorithm for
a load/store architecture, in which

(1) Only load and store instructions can have memory operands and

(1) Arithmetic instructions can have only register or immediate operands. The value of x is

3. 1

4.3

Options :

68634030761. 1
68634030762. 2
68634030763. 3
68634030764. 4

Question Number : 91 Question Id : 6863407780 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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4.3

Options :

68634030761. 1
68634030762. 2
68634030763. 3
68634030764. 4

Question Number : 92 Question Id : 6863407781 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The number of possible Boolean functions that can be defined for 7 Boolean variables
over n - valued Boolean algebra is

1 2”

Tad
-2
b
=

4, "

Options :

68634030765. 1
68634030766. 2
68634030767. 3
68634030768. 4

Question Number : 92 Question Id : 6863407781 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



GHIFAd fera= Ba-d BT A 58 » - HH dTd gfera T dIsiord IR » §ferd =R @ oy
ORI fear & gehdl § ,

Options :

68634030765. 1
68634030766. 2
68634030767. 3
68634030768. 4

Question Number : 93 Question Id : 6863407782 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If w; x, 3, = are Boolean variables, then which of the following is incorrect?

[a—

cwx+w(x+y)+x(x+y)=x+wy

- WE(P+Z)+Wx=W4x+)z

b3

Lo

L WR (P HRZ)F WX )y =Xy

4. (w+ ¥ way +wyz) = way + wyz

Options :

68634030769. 1
68634030770. 2
68634030771. 3
68634030772. 4

Question Number : 93 Question Id : 6863407782 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



LS, x, 3 = oA o, dl FHIRIT & I I 91 7Tdd 87

cwx+twlx+y)+Hx(x+y)=x+wy

—_

I
= |
B |
3
2
+
=l
=
Il
=zl
.|.
ey
_+
T;'il

fad

(WX (AW )y =ay

5.

(W vY(way £ wuz) = way + wyz

Options :

68634030769. 1
68634030770. 2
68634030771. 3
68634030772. 4

Question Number : 94 Question Id : 6863407783 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If @ and © denote the exclusive OR and exclusive NOR operations, respectively, then
which one of the following is not correct?

l. P®0=rogp

2

. PBRO=POQ

LS

. PBO=PBQ
4. (P&P)+0=(POP)OQ

Options :

68634030773. 1
68634030774. 2
68634030775. 3
68634030776. 4

Question Number : 94 Question Id : 6863407783 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Ife @ IR © HHY UGB OR 3R THHI[STd NOR HIGRRH i [1of=Id Sl &,
dl Fafeiad 9 & ggl el 87

2. P®O=POQ
3. PRO=PBQ

4. (P®P)+0=(POP)OQ

Options :

68634030773. 1
68634030774. 2
68634030775. 3
68634030776. 4

Question Number : 95 Question Id : 6863407784 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If each observation of a Row data whose variance is 4? is multiplied by A, then the
variance of the new set is

i h;ﬂ_

4. htat

Options :

68634030777. 1
68634030778. 2
68634030779. 3
68634030780. 4

Question Number : 95 Question Id : 6863407784 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



i I ST BT YD Aaaih forgeh] [daR0l 2 B/ Y 07 {61 ST ol ¢ e &6
[CERUN

Options :

68634030777. 1
68634030778. 2
68634030779. 3
68634030780. 4

Question Number : 96 Question Id : 6863407785 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The amount of time required to read a block of data from a disk info memory is composed
of seek time, rotational latency and transfer time. Rotational latency refers to

1. the time its taken for the platter to make a full rotaion

]

. the time its taken for the read-write head to more into possition over the appropriate
track

8]

. the time it taken for the platter to rotate the correct sector under the head

4. to reduce number of bits in the field of instruction

Options :

68634030781. 1
68634030782. 2
68634030783. 3
68634030784. 4

Question Number : 96 Question Id : 6863407785 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68634030781. 1
68634030782. 2

68634030783. 3
68634030784. 4

Question Number : 97 Question Id : 6863407786 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
e M - — T
A 4+ B|=|4-B|| 1 B5°
B || 4xB|= 4.8 |IL JpO°
— — £ f
C.|4.8|= li 111 leos
e AB
D || AxE|= = V. |s0°

Choose the correct answer from the options given below:

1. A-IIIL, B-1, C-1IV, D-II

(]

~A-II, B-II, C-IV, D-IV

LS

. A-IIT, B-1, C-11, D-IV
4. A-II, B-1, C-III, D-IV

Options :

68634030785. 1
68634030786. 2
68634030787. 3
68634030788. 4



Question Number : 97 Question Id : 6863407786 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Gl 11 gl 1 Y A Sifoy
_'@I T 11

—

A|lA+B|=|4-B|| I |

Py
LA

< - — .
AxB|=4.8 | PO

— —» A ‘ri
o P I foo°

2 o AR
D. [ AxB|== IV. |60°

2

fFafRad faeedl § 9 98 3T &1 9894 Dot -

1. A-IIL, B-1. C-IV. D-1I
2. AIIL B-IL, C-IV, D-IV
3. A-IIL B-I, C-II, D-IV
4. A-II, B-I, C-II, D-IV

Options :

68634030785. 1

68634030786. 2

68634030787. 3
68634030788. 4

Question Number : 98 Question Id : 6863407787 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The number of 1's in the binary representation of (3 * 4096 + 15 * 256 + 5 * 16 + 3) are
1.8
2.9
3.10

4. 12

Options :

68634030789. 1
68634030790. 2
68634030791. 3



68634030792. 4

Question Number : 98 Question Id : 6863407787 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SIS UAHTERT £(3 * 4096 + 15 %256 +5* 16+ 3) H 1's DI & &

1.8

[

9

4,12

Options :

68634030789. 1
68634030790. 2
68634030791. 3
68634030792. 4

Question Number : 99 Question Id : 6863407788 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A 2's - complement adder - subtracter can add or subtract binary numbers. Sign-magnitude
numbers represent decimal numbers, and 2's complements stand for
decimal numbers.

1. hexa, sign
2. sign, hexa
3. positive, negative
4. negative, positive
Options :
68634030793. 1
68634030794. 2

68634030795. 3
68634030796. 4

Question Number : 99 Question Id : 6863407788 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. eI, T2
2. I, gl

3. Y-l D, BUlIHD

4. BUIHD, H1lHP

Options :

68634030793. 1
68634030794. 2
68634030795. 3
68634030796. 4

Question Number : 100 Question Id : 6863407789 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given the following binary number in 32 - bit (single precision) IEEE-754 format :
00111110011011010000000000000000
The decimal value closest to this floating point number is
1. 1.45 x 10!

1.45 % 1071

]

227 % 1071

L

4.2.27 % 10}

Options :

68634030797. 1
68634030798. 2
68634030799. 3
68634030800. 4

Question Number : 100 Question Id : 6863407789 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



32 - fde (Ul URedl) IEEE-754 Wied H fHafdfad darg-R{ W1 &1 dad gu:

00111110011011010000000000000000

=4 YAIlT-UlSe HB1 & [Hdedd aaHd 9 §
1. 1.45 x 10!
2. 1.45 x 107!
3327 wie

4.2.27 % 10!

Options :

68634030797. 1
68634030798. 2
68634030799. 3
68634030800. 4



